Notes AA2 wl2d4-systems of quads.notebook October 27, 2017

Simplify: 0\% b" NO C R’ L.g; Warm Up Fri wk 12

1. i 2. (4-3i)(2-i) 3. (2+3)-(-8-3) 4 6;.3"
. I
! 5-10i 6+6i
-3+6i 3-6i 3 .
10 . . 2 2 2
5. E 6. (—5—2?)4—(4—1) 7. |4—i|
Graph this answer
—1—3i imaginary
3+i 17
-+-3
Factor:
8. 343w’ —y? 9. 6aw—8cw—4cy+3ay  10. 6y° +27y* —21y

(Tw—3*)(49%* + Twy* +3*)  (3a—4c)(2w+) 3y(2y* +9y-7)
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Ex. 3 f—.—I 9
{y = _ng— x+ 6 1. Let's graph on our graphing calculator to
y=x+3 & yo see how many solutions.(Sketch it)
= st N 2. Solve algebraically.

Xt3 ==X =Xt Quick sketch:

XS~ @) = < - - NS .
SN w7 \| | FARRE
3: K+3 H:X_,_g J B

6

7 U -
_ .y .
< 3} QB ) 6} L/ ) How many solutions are we looking far?




Notes AA2 wl2d4-systems of quads.notebook October 27, 2017

Please take out your calculator and your homework paper. We will start your
homework together.
\»

Let's make a sketch so we know
how many solutions we have

~

page 262:#15 [RRREY B CRERR
y=_x2+2x+10 :8'* ’%45678;
. \
2 \| /
y=x+4 \\%

. Y .
We are looking for & solutions

Now, solve using algebra:

y==x"+2x+10
yéx+4

Use substitution

—x2+2r+],8=,_ ;l-‘} [,,\oq CHECK: (3,7) (-2,2)

_&gw_gglve J?)';é _XPL){

O= X “X & gjgr),/ =-x*+2x+10 y=x+4
O: <X‘3XX1'Q |4 ? <y Xy

><“3 O or XtJ= Y- 3,7) (3’77)=3 4

X=3 orX=-3 (5 7=—(3) +2(3)+10 727
(ﬁ els 7=—(9)+6+10

@,9) -

XYy XYy
(-2,2) (-2,2)
2=-2+4
2=—(2V +2(-2)+10
(2 +2(2)+10 27

2=—(4)-4+10
2=2



